0ff &F Al 3 N A
T 20l LBt H AHH
AHE S A
NEBHESAS (MY - = £.053%)
D MdESAMNEEHINL (2 &HH)
- _ _ RE]
SA - B .G (3AH) - MBAY - BES %Eﬁ HR=2
S H3HA ,336,031 5,440,457 3,895,574
= 251,060
Xl ,203,305
= 868,176
Al ,013,490
HAMEALS (ALY - SAD] = c 3t ,161,678 2,506,584 3,655,094
Xl 760,000
o 178,927
Al 222,751
HNEANEEHIMNA ,808,880 200,550 3,608,330
Xl 760,000
o= 45,000
Al ,003,880
SEANEEHIMA 28,000 90,000 A 62,000
201 et | 18,000 20,000 A 2,000
02 232 4| 18,000 18,000 0
OZ2&EANE &dI|Z 18,000
— ASH 300,000 = 128 3,600
—JIZ2s 600,0008 = 12& 7,200
— HIJtE JHH DI 300,000 = 12& 3,600
—Bos 300,0008 = 12& 3,600
401 Al HI L 204 HI 10,000 30,000 A 20,000
01 Al&H| 10,000 30,000 A 20,000
OFXEY 2=012AE 2L
10,000,000& = 1A 10,000
JIEFAI & EH A 163,880 73,880 90,000
201 et d9d| 23,880 23,880 0
01 AP 22| H| 9,000 9,000 0
OZJY SZEEF=XE AU
9,000,000& = 14 9,000
02 222 4| 14,880 14,880 0
OF)| SLANE & B2 1,680
—MIR22 70,000 = 12€ 840
— MO ER2 70,0008 = 12&€ 840
O2JY Sst&& 222 13,200
— &I ea 1,000,000& * 12& 12,000
— MO ERE 100,000& = 12& 1,200
401 AlEHIZL 2 0HY| 140,000 50,000 90,000
01 Al&EH| 140,000 50,000 90,000
OFSAE HtEE 30,000,000& = 14! 30,000
OFEANE 250 Lo
30,000,000 = 14! 30,000




AN B4t
H: NAZBHELS (MY - SAIG/MAEE - DTS}

EHe: MEAEEHIMNA (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
O3J19 23&& CCTV i &bl
50,000,000 * 14! 50,000
O3J19 2 E =XE bt |
30,000,000 = 14! 30,000
(Z)EESAEHALS NS 1,267,000 0 1,267,000
Xl 760,000
Al 507,000
401 AIEHIZL 201 Y| 1,267,000 0 1,267,000
Xl 760,000
Al 507,000
01 Al&H| 1,267,000 0 1,267,000
OFEANEE L SARSSFIIBXILEAY 1,267,000
— HHISESAIYE DHEOAILE HE
1,267,000,000& = 14! 1,267,000
N 760,000
Al 507,000
(S)EEAE 5UE SHAY 150,000 36,670 113,330
& 45,000
Al 105,000
401 A2 HIZL 2 0HY| 150,000 36,670 113,330
& 45,000
Al 105,000
01 Al&EH| 150,000 36,670 113,330
OZelsed LAY 150,000
— ZEJ|QAMASAAFEI O MZE AX
50,000,000& * 14! 50,000
o=t 15,000
Al 35,000
— EJESQAAE 2HEAH|
50,000,000& * 14! 50,000
= 15,000
Al 35,000
— ABMOIAAIR B4 DA
20,000,000& * 14! 20,000
== 6,000
Al 14,000
— EJ|HHI 2 AMAZE S Ul Z2A
30,000,000& = 14! 30,000
== 9,000
Al 21,000
(Z)=XEZE MNE A 2,200,000 0 2,200,000
401 Al HI L 2 0HHI 2,200,000 0 2,200,000
01 Al&H| 2,200,000 0 2,200,000
ONSFHINAE FANHEITLHAIY
5,500,000,000& = 14! %= 40/100 2,200,000
HSAE L XNEHMESS 702,998 772,484 N 69,486
= 79,527
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2N
X ZH -
L= B

el

= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
OIS 21ZEHAE OIS ZTET XA
40,000,000& * 1Al = 50/100 20,000
2LaEol X 248,620 160,000 88,620
307 gl2tol & 248,620 160,000 88,620
08 OIXtEHE 3 248,620 160,000 88,620
Oaxazel FHAS OINXE 23 248,620
— A= (16~174) 7,556,000,000& * 2% 151,120
— &l (184) 6,500,000,000& * 2% * 3/4 97,500
HEANE 2483 N2AM(ZNHEFI) 8,160 4,080 4,080
307 glz2tol & 8,160 4,080 4,080
02 IZHE M AHE X 8,160 4,080 4,080
ONQIEH AL ASAL (AZHUK) 24| X
2 4,080,000& * 198 = 204 8,160
(Z)HESANEEEI S AHEA XIS 16,368 14,064 2,304
< 4,910
Al 11,458
307 Q12+0| & 16,368 14,064 2,304
< 4,910
Al 11,458
02 It M AHE L 16,368 14,064 2,304
OXHSAZE BISMEIAAY 16,368
—SSAE(FEH1ER) 16,368,000& * 14 16,368
< 4,910
Al 11,458
(D)2 2ZBEANE SLEAY 200,000 450,000 A 250,000
< 60,000
Al 140,000
403 A XIEHHS =0l A 200,000 450,000 A250,000
= 60,000
Al 140,000
02 SO 2SOlCHEH A2 X 2 & A I 200,000 450,000 A 250,000
O=32Z2EANE SEME X3 200,000
— FF365AI Z(3E ) 200,000,000 * 14 200,000
< 60,000
Al 140,000
(Z)ELRESIHH HEMA 25 XA 48,870 74,520 A 25,650
< 14,617
Al 34,253
402 RI2tXt20l ™ 48,870 74,520 A 25,650
< 14,617
Al 34,253
02 2IZt 2 AL EZ (OIS ) 48,870 74,520 A 25,650
OamS=FdH HSHAH =X 48,870




2N

M & o atal
FH: NS MELds (MY - SAIG/MEHE - DE3FH)
Sl HSAF L NSNS CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
—ZEEFHONESZTE(3ER)
48,870,000& * 14l 48,870
= 14,617
Al 34,253
aHcl ENEE 94,320 90,150 4,170
< 16,400
Al 77,920
= b2t 26,720 28,750 A 2,030
201 £B-2dH| 17,120 19,150 A 2,030
01 At 22/l 17,120 19,150 A 2,030
OMBEHUES 1,034,000 * 10A 10,340
Osotetd 2el 900
— =9SO MW - PY
60,0003 = 504 = 23] 600
—ES23dH Rl 100& = 1,00008 = 33l 300
OSSR L ARV EHa 2T
70,0003 = 199 « 33 3,990
OSEAMMUTES B &g
70,0002 * 9H « 33l 1,890
301 et d = 9,600 9,600 0
NJIEEd=s 9,600 9,600 0
OS2IN2LHRY ¢
100,000& = 8 = 12E 9,600
S A0He 2el 3,000 3,000 0
307 gl2tol & 3,000 3,000 0
05 BIZHRI & 3 3,000 3,000 0
OYHHEDHQ! XIE ZAIH R AR I
3,000,000& = 14 3,000
2HINES 10,000 10,000 0
307 21201 A 10,000 10,000 0
02 UAFAAFEX 10,000 10,000 0
OadlXtns & &4 MY X2
10,000,000& * 14 10,000
(Z)=sotAgA & 54,600 48,400 6,200
< 16,400
Al 38,200
201 Let2d]| 12,360 11,500 860
< 3,728
Al 8,632
01 At 2teltl 12,360 11,500 860
Ozstraga XA 12,360
— S22 M 4,700& » 1,600% 7,520
< 2,256
Al 5,264




SN ZHMESsA
Ha: NAAMBLSHAY - SLIIY/MST

£.-05%)
el AN HMEEY (S &2)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
— Y gL s 55,0003 * 440124 * 23] 4,840
< 1,472
Al 3,368
206 = Hl 42,240 36,900 5,340
< 12,672
Al 29,568
01 MHZ 4l 42,240 36,900 5,340
Ozstraga XA 42,240
~%EE MES X
480,000& = 44012 = 23] 42,240
S 12,672
Al 29,568
gdsd & XA 1,476,800 1,374,720 102,080
< 23,000
Al 1,453,800
sSNIY s£8XN& 1,190,000 1,122,000 68,000
201 Let249] 11,000 11,000 0
01 At 22/l 11,000 11,000 0
OR«+=ITa)|gda &1 MA -7
200,000& * 54 1,000
Of+=32J|Y H3EE & JH0IE=S M
10,000& * 1,0000H 10,000
307 21201 A 980,000 960,000 20,000
02 B AAHEX 100,000 80,000 20,000
OdArY AIMZ XN2AL(EZES 80%)
20,000,000 = 14! 20,000
OYFA JYAEY YHYPAAY 2% X8
(EZE 80%) 10,000,000& * 14 10,000
OXLESANY NA(BEXE 70%)
50,000,000 = 14l 50,000
O=&J1d o2 FHMUS &0 XNIAS(Ex
2 80%) 20,000,000& = 14 20,000
08 OIXtE2H = 880,000 880,000 0
OSAJNH2EXS OIXXY BEXZ
(4,000,000,000& = 2%) + (20,000,000,000& 880,000
* 4%)
308 AHAIEHHSOIA 149,000 151,000 A 2,000
07 IXNHMAR S = 49,000 51,000 A 2,000
OZINEZUNUEESHE JIeMMZTERES
49,000,000& * 14 49,000
10 37/ 2S0HUHeBHEAEALS I 100,000 100,000 0
OZAJPEEIIEL IFAHY
100,000,000& * 14 100,000
401 Al HI K 201 I 50,000 0 50,000
01 A& HI 50,000 0 50,000




SN AR E s
o NAAMSH(NY - SLI/Q/MLTE - DEF)
|

S99l JYSs L XS (B9 ®R)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OS2I H2Y MHZAE oA HZ Ml
50,000,000& * 14l 50,000
SI|AE L5 31,000 6,000 25,000
201 £B-2dH| 31,000 6,000 25,000
01 At 22l 31,000 6,000 25,000
O3l 22 M 6,000,000& = 14l 6,000
OZJleld dLels My & 03 ME=
25,000,000& * 14 25,000
A8 2t HEAIR 50,000 50,000 0
307 glz2tol & 50,000 50,000 0
02 It M AHE X 50,000 50,000 0
O3JIQUATZISAY dU2EANY X
100,000,000& = 14 = 50/100 50,000
()AL H0EH 30,000 40,000 A 10,000
< 12,000
Al 18,000
307 gl2tol & 30,000 40,000 A 10,000
< 12,000
Al 18,000
02 IZHEHAHEE 30,000 40,000 A 10,000
OS2Iy AESHAHRM 30,000
—DEXNFES(D1Y) & 2HTAZ (M) X
# 0,000,000& * 14 30,000
< 12,000
Al 18,000
KN AXATHAE S 20,000 20,000 0
307 glz2tol & 20,000 20,000 0
02 QIZtE A AHEE 20,000 20,000 0
OXAXATHA HEXNAAY X&
20,000,000& * 14l 20,000
SIUAETAAL & THEA FHIHXA 12,000 12,000 0
307 glz2+ol & 12,000 12,000 0
04 QIZFHALAIH E = 12,000 12,000 0
O3J1¢ad HEA FIt XN&
15,000,000& * 13| * 80/100 12,000
SIUANE 22 SEHAXEA 41,800 41,800 0
301 et d = 1,800 1,800 0
09 SALAHIE &S 1,800 1,800 0
O2JI1lA E2HAl EHOHEAL FHX OHH 2
o 90,000& = 10¥ » 2¢ 1,800
307 21201 A 40,000 40,000 0
04 DIZHHALALSE E X 40,000 40,000 0




SN BHE S

3 ANSE M

>

S99l JYSs L XS (B9 ®R)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
OBJINAME=ZEE SEHHAXJ
50,000,000 = 13| = 80/100 40,000
HE EJ|0A L)Y SHAIY (2T L) 60,000 60,000 0
307 2Iz2t0| A 60,000 60,000 0
02 QI AAIRE E X 60,000 60,000 0
OFE ZJ|0A e0|Y9 S4AAIY X
60,000,000& * 14! 60,000
oHIT=EIF I LA 20,000 20,000 0]
307 212t0| & 20,000 20,000 0
04 CIZ2tSHALALS B X 20,000 20,000 0
OdfuE=zIF I XA
25,000,000 = 14! = 80/100 20,000
(E)FascseEw|)|Iged 22,000 0 22,000
= 11,000
Al 11,000
307 QI2t0| ™ 22,000 0 22,000
& 11,000
Al 11,000
02 QI2tAAMAIE E =X 22,000 0 22,000
OZMN=SESEELIY &8HEHH| 22,000
— A& HEZL XS (3MA)
33,000,000 = 14l = 2/3 22,000
& 11,000
Al 11,000
22k SASE 78,680 68,680 10,000
== 15,000
Al 63,680
LsXe 2 3,680 3,680 0
201 et d| 3,680 3,680 0
01 AP 2t 2| H| 3,680 3,680 0
O2=Z AbAab A MZ - 22 100,000 * 2004 2,000
OLAMBIEEO S 3o&M C
70,000& = 129 «* 23| 1,680
()2 2Xet0ISHIItHs X 40,000 40,000 0
& 8,000
Al 32,000
307 2iz2to| A 40,000 40,000 0
= 8,000
Al 32,000
04 QIZ2tSHALAFS B X 40,000 40,000 0
O=2=zX stors2oItal XI&
40,000,000 = 14! 40,000
& 8,000
Al 32,000




SN BHE S

=
NAZHELSH(AY - ST/ AR

PSSl s .0%3)
e 22X 2X=d (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
(S)YesHsSMSAS XS 35,000 25,000 10,000
== 7,000
Al 28,000
307 2Iz2t0| A 35,000 25,000 10,000
o= 7,000
Al 28,000
02 QIZHEAAIRE E X 35,000 25,000 10,000
OLSHENYA E43 AIY 35,000
—Lsaes I3 35,000,000& = 14! 35,000
= 7,000
Al 28,000
2222 L XNAOY (A =2X/=5) 1,381,498 1,845,066 AN 463,568
= 115,500
Xl 443,305
o= 207,497
Al 615,196
2222 2 MHorA 1,381,498 1,845,066 A 463,568
= 115,500
N 443,305
o=t 207,497
Al 615,196
FH L MNAOH XA 21,600 26,800 A5,200
201 et 16,800 16,800 0
01 AR 22l ] 6,800 6,800 0
OYx2IAAs 5o EHasrg
70,000 * 10Y « 43| 2,800
OLXte|HzH XM= 250,000 * 43| 1,000
OgXtel E2= MZE L ol 3,000
— S 4=a 50,000& * 2404 = 23| 2,400
— ot WES S 300 * 1,0000f = 23| 600
03 Al HH| 10,000 10,000 0
OF S Brerg i =l 10,000,000& = 13 10,000
307 2Iz2t0| A 4,800 10,000 N5,200
02 QIZHEAAIRE E X 4,800 10,000 N5,200
O Xelz= MOoILE & JJgelmel 2tergl I
= X< 6,000,000& * 138 = 80/100 4,800
(Z)E222=2 A 104,905 282,262 N 177,357
o=} 20,981
Al 83,924
101 @121 | 101,225 278,582 N 177,357
= 20,981
Al 80,244
04 J|12ZtHIZ22NEES 101,225 278,582 N 177,357
O2Z22=AY 101,225




2A AMEBLGA
MM D222 Y XAOH(ASEX/LE)
CHol: 2222 YL XYoL (EERED
5 = SiE|
S E B (3H) - MBAY - BES Ol &F o4 %@i HD=2
—HOXA 2= 2 402
101,225,0008 * 14! 101,225
= 20,981
Al 80,244
201 B2 Y] 1,600 1,600 0
01 A2 22/ H] 1,600 1,600 0
OZZ2z A 1,600
— AN EX 2| 1,600,0008 * 14! 1,600
202 04t 480 480 0
01 20t 480 480 0
OZZ22AY 480
—ANYE A S U
20,0008 * 2% « 13 » 128 480
206 T 2 HI 1,600 1,600 0
01 W2 HI 1,600 1,600 0
OZZ22AY 1,600
— A2 HERUY 1,600,0008 * 14! 1,600
()XNEBSH L2 A 154,210 165,627 A11,417
Xl 77,105
= 15,421
Al 61,684
101 @1 A 146,510 152,927 AB,417
Xl 77,105
= 15,421
Al 53,984
04 JIZHRI22NEE S 146,510 152,927 AB,417
OXSEZEHLYX 2l AF e 146,510
—HOX 22 L ABEH
146,510,0008 = 14| 146,510
N 77,105
= 15,421
Al 53,984
201 Y2 H 2,000 2,000 0
01 A2 22l H] 2,000 2,000 0
OXNSEBSH LYK 2I AL 2,000
— NYEX2HH 2,000,0008 * 14| 2,000
202 04t 700 700 0
01 2L 0t 700 700 0
OXSEZSHLYX 2l AFe 700
—DS L AYE HA S 2UHUHI
700,000 * 14! 700
206 M 2 Hl 5,000 10,000 A5,000
01 M2l 5,000 10,000 A5,000




M AHELSA
HH: 2222 U NYAHE (NI /LE)
el BZ2E U XOHH CEEEED
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
OXNGSSHL el A 5,000
—ANEE M7l 5,000,000& = 14 5,000
(SIMSI IS AL XJAY 140,000 128,400 11,600
= 98,000
< 12,600
Al 29,400
307 gl2tol & 140,000 128,400 11,600
= 98,000
< 12,600
Al 29,400
02 It S AHE L 140,000 128,400 11,600
OAMSIEIIY AL IHEH XI& A
140,000,000& * 14 140,000
= 98,000
< 12,600
Al 29,400
(S)HEFH AL TN 80,000 80,000 0
< 24,000
Al 56,000
307 21201 A 80,000 80,000 0
< 24,000
Al 56,000
02 It S AIHE L 80,000 80,000 0
OFYHH &S XA AL 80,000
—Zgasd s XN& 80,000,000& = 14 80,000
< 24,000
Al 56,000
(2)HSXNAHEH SHIAS 180,000 150,000 30,000
< 36,000
Al 144,000
307 21201 A 180,000 150,000 30,000
< 36,000
Al 144,000
02 IS AT EL 180,000 150,000 30,000
OFSXNALHE LA
180,000,000& * 1A 180,000
< 36,000
Al 144,000
(E)XNEAARNEAEE 5,977 5,977 0
< 1,793
Al 4,184
301 et a =z 5,977 5,977 0
< 1,793
Al 4,184
01 MEIBEE 263 5,977 5,977 0
OXNgGagit Hgesd 5,977




SN AR B
HaM: 2222 L XNAGHF(AMSIEX/cS)
Sl 322 U MYOH (B9 ®R)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
— SIS L =M NSy S A
5,977,000& = 1Al 5,977
& 1,793
Al 4,184
(Z2)0IS21Y S4AY 50,000 50,000 0
Xl 25,000
& 7,500
Al 17,500
307 2Iz2t0| & 50,000 50,000 0
Xl 25,000
== 7,500
Al 17,500
02 QI AAIE E X 50,000 50,000 0
OnrsJIg sS4 AMY 50,000,000 * 14! 50,000
N 25,000
=} 7,500
Al 17,500
(Z2)AMEEIHE LXCIEHESAY 412,000 826,000 A 414,000
N 309,000
= 30,900
Al 72,100
307 gizto| A 412,000 826,000 A 414,000
N 309,000
& 30,900
Al 72,100
02 AI2tAAMAIE E =X 412,000 826,000 A414,000
OAMEEIIE S LSS ALY 412,000
— 2022 A 2HH L AISIEE =2 K&
412,000,000& = 14! 412,000
Xl 309,000
& 30,900
Al 72,100
(Z)AISIED| S AlSIEE 2 XA 46,000 30,000 16,000
Xl 32,200
o= 4,140
Al 9,660
307 212t0| & 46,000 30,000 16,000
Xl 32,200
o= 4,140
Al 9,660
02 DIZFEAAIRE E X 46,000 30,000 16,000
OABIEIY AISIEE S XA 46,000
—Z0H22% AM3BEZ2 X
46,000,000 = 14! 46,000
N 32,200
= 4,140
Al 9,660
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X ZH -
L= B

el

b OB oY
0k O =
Uy ne
HU HU 0x
4o
Ji]
if
)

M
>
ton
o
pa]
~

r

in

- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
(2HABHI| Y KNS ESALY 25,000 25,000
= 17,500
< 2,250
Al 5,250
307 2Iz2to| & 25,000 25,000
= 17,500
= 2,250
Al 5,250
02 QI AAIE E X 25,000 25,000
OAMIEIIE XNESFAIE 25,000
— a2 X 25,000,000& * 1 25,000
2 17,500
& 2,250
Al 5,250
(E)HSMBBIIBNLAE R 21,806 21,806
= 9,912
Al 11,894
101 e1214| 21,806 21,806
o= 9,912
Al 11,894
04 J|I2ZtHIZ22NEES 21,806 21,806
OUst Z22I|2 A2 EXEH 21,806
— N 24 L AREE
21,806,000& = 21,806
& 9,912
Al 11,894
(E)MNSAHECHE DX 40,000 40,000
< 12,000
Al 28,000
307 2iz2to| A 40,000 40,000
= 12,000
Al 28,000
02 QIZIA AAIE E X 40,000 40,000
Odtstd (e THsSstn N& 40,000
—EEAMS U UANE S N(HALK S
) 40,000,000 Al 40,000
o=} 12,000
Al 28,000
(E)IAHBUCHSZA0ES 100,000 100,000
= 30,000
Al 70,000
307 QI2t0| & 100,000 100,000
= 30,000
Al 70,000
02 QI2tAAMAIE E =X 100,000 100,000
O1IAMEEEIIELd 02 100,000




2N
X ZH -
L= B

el

b OB oY
0k O =
Uy ne
HU HU 0x
4o
Ji]
if
)
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>
ton

5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
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